7923 , SOLUTION , DELHI POLICE CONSTABLE

Ques 1. ANS (C) Solution:
TSWT AT & AR BT YR HiY AT, I HUN Id1G
H 3ult & YT 3 el | +ff URFT U1 B
Traa, I, SN, TR, TRV, AR, IS 1S | U BT
IATGH oY Uga Y &3 T 51 TRTY g Tl
Aarertar () & $urg & for Ry e Sefe g
& AN HUN B Rre (RrsH) Fgd 3 S iy 2sa 1 8t
o g
Ques 2. ANS (D) Solution:
SIHRTS, URTHE Ud S1aR A HegUl B ASTRATON oY 3
Fer| I fedia ISR ot == o o 1140-
1450 3. 9% & HIUR & 3fae™ & fawg § SR
forrht g1 #ier gRT ferd ST ISTeR AR § 1459 5. 7
1486 3. % & HIUR & (g™ &1 TSR] FHad g1
oo &1 nfecds onef B- remsit &Y et 39 gRa®
& IR HIAR BT A1 HAUHE UT|
Ques 3. ANS (C) Solution:
22 SHa%), 1760 5. § it & g H Sl A Wi
1 D1 X RE Y WRIford DR 01| S8 iR o1
YRA T THTT JHI 81 71 39 & H 36l 91 T g
SRRGC YT IRIRA 1 BT g HI3< & arait A far
YT 17 HRAR), 1763 Bt URT &1 TfY & Ty g Iqadfg
I JAT 81 7| oy gRUmeRa=q dTell &1 31
YU 3T TST UT| 39 UHR HRA B gaitd HTe iy
g JAT 1 T
Ques 4. ANS (A) Solution:
RO AL BT URST 26 TaRR, 1949 BT dOR T
SR Tfaem 941 & Tawl gRT 26 AaWR, 1949 Hi
itfepra, siftfafira siR siremftfa fovar mar| wfaum &
UREY IR AT U o Pl 299 Yol H I IUTRId 284
&l gRT gwI&R 6 U Q 91 Ay & $o uray™
T o AR 5 T A SR-v1pufa 1 Fate, AR an
Tqu1 fafem Tl graam snfe |
Ques 5. ANS (C) Solution:
AU & 3fTadg-27 & favid 1oy, fodlt T R Bl
e &1 31 & fore smen 18T S, S fpadt et ar enfifes
R (Religious Denomination)ﬂ%Bﬂﬁﬁ‘@lﬁW
ST || fobeg o, 1s ot enfifer gfaen 37 & e Yo
R B Tl B
Ques 6. ANS (D) Solution:
D13 fadg®, o fadg® (Money Bills) § T 781 3TwT
oo AT sremer gRT fbam ST @ 3R S9eT fafea
Sifa BT 81 3®™a-117(1) & INR, o fadas®
RTYUTA B SR A bad <l FHT H g1 Ui feba
S| eF fAdge &1 I JfauE & sgwse-110 o
T a1 § S9% SFINR, DS fAdg® o fadas ghm,
afe IgH Y fawg affferd 8- () foeslt o= @1 SiftRiuo
(Imposition), 3&TG (Abolition), tlﬂ%'l? (Remission) 4T
(Alteration) Td (ii) HRd WRBR GRT &7 IYR <A
1 T BIS YA &1, YR 1 Ffrd Ry qur
3R Y IR fHedt oqg &t Uika & onfe |
Ques 7. ANS (D) Solution:
AepTd gdaqTa BTe I # fUd 81 39 udd 9ot &
Yot RRR 3Reed (1036 Ht) 1 T, THaT 9 AgHel

et &1 IgH SREeH UeTS! A &) 81T 8| THH THT &Y
U Hg1ae Tal g

Ques 8. ANS (C) Solution:

MBI AT (Nuclear Fusion) 3ifHfshar & 3idiid dRY
T 1Y 1.5 PRIS Died o IR &l gIESIoH & NS
TIY T HARIT IR U giferad AT BT FHEfo Hd
€, O IRI ¥ Yad 811 ATl i, 38T Td UHTR & U™
I 81 39 YR g ft U IRT ] 1 39 iR HiT A
S AT B IS SIoH % URATY aifdd gd 38d §, Sl
D! Soll, SSAT UG UhT T U Hid §

Ques 9. ANS (A) Solution:

graxad Seel fay &1 JaY 981 7S Seel 8, S STd &b
TS T Ud SRgE Al & HeM W Rid 1 3R
2 THI-STYA Seel & A I+ ST oI § | §4ahT
IR YRA T I W 81 59 STl HT ATHHRUT T8
TR AR H el 9 arelt gt

Ques 10. ANS (B) Solution:

SUIDITA (Deflation) I3 T Jar3fl & e T Faq
fiRTae §, w%uﬁfwwm@ﬁmmﬁaﬁﬁ
Heldt & q1ed ¥ srfeaawt & ga1 &1 ayfef e 39
fRUfY & e I Teval 51 S0 S[aURN &1 Uy urgfi
(Pump anmg)aﬁﬁ%@ﬂ@ﬁuﬁ%qﬁm‘%%
R, 01 &R YT g SRIE 3Td 3Mfe $T HH Bl 5
ORI B GERWIA ST &R Td SRS &t &R gl 8t
3 Bt &

Ques 11. ANS (A) Solution:

I Pt GG & UYT TUH g TS (483 $Y) T
TS XISR[E &1 Ut T H foodT a1 a1 g5 &
IR & & fed!-gd fUed iR faTa few & Jawfea
fopan a1 T8 Iifa Sretae (@@ 4R & e |
ST P TS Ud SHB! el HeThy 3 1| 54
I & R s 3R Iutfer f JufRd 31 g5 w4y
P! sl dy H AeTuRfafor &1 51 15 |

Ques 12. ANS (D) Solution:

Fge I Uad (1206 T 1210 3.) AT 9T T TRITIE T,
o ggtme RT A e fovar o1l 98 g TR &l
AT UT| 9 937 7 faeah o1 9l |R 1206-1290 5. AP
TS fordT | 9 9% & X 1 WIS [ @) 3 7
o TolT | SHfoTT 59 a1 b1 HiFelep a Wi BT Sl § |
Ques 13. ANS (B) Solution:

4708, 1799 BT 48 TV Bt 3G A TG TA-TRR I &
IR 3PS & T §U Y oo &1 I &) TS | ST
T & Y & AR D! WAl & Sfae™ & IR
3L BT JHIYA g1 77| Y DI IR PIIRSD
0§ ST ST 8 | §aR TN IR & 9gd g &1 ofld
PR YRR IS TR ST A U Uh g Holgd B o |
Ques 14. ANS (B) Solution:

YR Hae™ o T U Y U9 &1 WGa7dl (Freedom of
Press) &1 30 -Ta] & Qo1 WTehd TR e §91H HRd
TG AW (1961 3.) & S =ararad = Wy fasar fa,
3®G-19(1)(®) T e alep U9 SHfiyafad $T wdadr o
2 O 31 T fAfed § SR O &1 QR ARG &
3T fafRry ISR UTe =181 &1 ord: U 1 Tacdsrar
e & STee-19(1)(@) & faid gt M §1




Ques 15. ANS (C) Solution:

SEUGRIE - aRATd TR THHUT faha SR I 3ifiidpd
TR BT U Ted-a H frern forn| Fafafoia we=i ™
YA M P YE§ B & [0 I8 AST TaaT o
e o AT, 3Yh YT 9 HIewdl, e aMT adl Bl Ul
B 3R e e | UG qot 9d TNeRT &t Wi &

PRI I gt a7 Id Ht FeT STt Tl

Ques 16. ANS (A) Solution:

e =ararerat & =maneher &t , TUTd & GRT
I I & 3 g § & YT BT S B

AU & 3G-233(2) & AR Pl fad forelm
grneier fgad g9 & ol vt o g o g FH
$H 7 a4 d& SHfUTadT X§ 9T 6l | o el b 37efi
Td 39 70 § o1 A arat raraal Y srefewy
TS PEd ¢ | STPT IoTT AU P HIT-6 H
3TSe-233 § 237 I fosar T B | fora =umarerg &)
UHR & BId 3~ RIS T (Criminal Court) Td
G =™ (Civil Court) |
Ques 17. ANS (B) Solution:
YRA &1 TG gRT I¥ 1985 H 529 Wfem g=ne=
AR & W1 W Td-95d faRieh B
(AntiDefection Law) ST fHT0T faoam Trm 1| 1Y &,
e & 109t S SIS HR ad IRadd & YR W
fRear & fawg ¥ Iusy feu MU are §, 919 dfgum
=Y i @ 2003) & gRT 106 ST &
Rads e g Uty far ma g f, afe fedt ga &
AT 3l fAeTE Yo YYg 91 odf & AU aR oa
® dl 39 UM 7 3 gaw o gaa & siatfa
31 T A S |
Ques 18. ANS (B) Solution:
Ay Tt dedeTel st & ofivd &l Saarg
(Climate) @ €| SieTarg B FeiRkd B arel HReb
&, TG a1 ¥ TS, T 9 g3, Yaiad gas,
TUTBIGH, TS SAYRIE, Ydaaransit o fRufa, Jffr &1
3, Wm&m% TR S0 I 3,
Searg & Fufa #A aTe o1 R § Fifes fafdd
aﬂ%mﬂ,ﬁmﬁmﬂﬁﬁwﬁw
fear T g1
Ques 19. ANS (B) Solution:
WIRed AT (Plastic Money) W(Cash) YT BRI
HaT (Paper Money)WWﬁW%, e A1emw I
Tl BT YANT fHT faAT yirar fasan Sirn 81 shfee &8,
3fde H1S, WK H1S U4 T . TH. 1S 3¢ WiiRed At
¥ IETeXVI § | I oI (¥ fafag 8Q), urg ga au
PHITol GaT & d1G Wied gal agd 9l (Fourth
Generation)aﬁﬁﬁT%I Tﬁ&lﬂﬁﬁo—@fﬁw (Crypto
currency) & U H Ue fSfofed GaT &1 Jae- UR™ gl
S-faeie, foewis, Rua sfe
Ques 20. ANS (C) Solution:
STd SO T TN YR argel § g 8, i ag Wt
a5 & Tiwm & fow 3if¥re fed ugq wxar g, &t fb 34
R aTe! &1 $ S Wad § HH A g
Ques 21. ANS (B) Solution:
PR 9 H Tgad faYd 3ugey ek 3 (H,SO0,)
BT 81 D! UPHid Uad 3 o1 gl g

Ques 22. ANS (B) Solution:

Fide # URaR e M Yee, BT TANT foRd |1 T s
&1 31 §- T & T & 1Y I g arelt I | T o
YR FAYUT ITRATGH HId § ot | g foeht 7@
T3 & 3R Bl 81 Hifeis =4 J I1d M AF & §-
HRYY, IR, Y7, Mad , YRGS, 3 iR fasyiee |
Ques 23. ANS (A) Solution:

SATIEM A Al HIHR & g H ¢affiik (1307 3.,
ASTT (1309 3.), B9 (1311 3.) T S Iam|
I <afRT & gred ol IHT= ¢d DI RIS b
RS T ¢d A 30 Gl BT faa1g Sarseq 3 o
fear o9 gea SIASE A 38 Us dRg ¢, U TWuf
TF TG I I B U U= B |

Ques 24. ANS (C) Solution:

TS BT (1813-1823 §.) & HIADBIA A qai1g auT ifad
SITE-TRTGT TG (1817-18 5.) SR™ §3HTI S0 g& H GAT
& 3 Yolige Ufethie A U=l aToik1g fgdia & WRis)
& U &I YA I | faawr far 39 gRumasy
13 [, 1817 5. Bl G &1 Wi g5 aUT SSIRIG fgaid Bl
UM S HER & T fagz Ot faam |

Ques 25. ANS (D) Solution:

HRATG AU & 3J=dG-11 & IR, TG DI
IR & gy § fafYr 9 & 2fdd ueH &1 TS 8l
g% 3ravid 9 gRT YR ARG ifdfaH, 1955
uiia forar a1 39 siffaw & avf 1986, 1992, 2003,
2005 3R 2015 ® TNy fovar 1| gdA e | YR
TRl & 5 UBR F U B S bl § oid- oFH I,
AR, Usitn=uT, SRAT®HR SR fag=ht yff & sifergur
& YR ||

Ques 26. ANS (A) Solution:

3t dt. fiR HRA & <Y Apufr A1 37T SIS 1969 3.
¥ 1974 3. qF UT| I I HRAI ¢S G S (Al
India Trade Union Congress) & I 9R e I U1 3.
SR 8 YT ST, BT fclt 3(gHg BT FeH
(Death) 3% HRIGTA A g BT 7T UT|

Ques 27. ANS (D) Solution: ]

IR-UE T YRd Y &1 Aan Ui <=1 & 9y
A §S § | UIfhealT o1 ST SXAHISTG § | FbReR,
g 3R g I8l &t UgE ydd ARl § 1 YRd &
SR F oficidT Ud STR-yd H Sae R 9 =R ST @1
e HRA & |

Ques 28. ANS (A) Solution:

e DT Uge! SFYH (First Schedule) T T UG 9
o &, gLt e W Haenfe Tl
(Constitutional Authorities) & aT‘FTQH 'J-IT'ﬁ ISIESEl
S-I_-ﬂjﬁ o Ty 1 ufage (Oath or Affirmation) I
UrRey, 7T At SRE # g § Il & forg wi
& 3fTde (Allocation) T WTaeT fam T B

Ques 29. ANS (C) Solution:

fRAe 3 Ty RIS HUT aTd UeTdf ¥ A §S-99
RIeRaust &1 ufikag wvd § 1 Raal gry srRfea @
uRafgd uerf (i) &1 Rauo ur: S -l o ghar
2. oigl it fuueer Sid # uRafda gidt 81

Ques 30. ANS (C) Solution:

Iy 1938 ¥ AP IS FHF (National Planning
Comm|ttee)ﬁmﬁmaﬁwa?ﬁ%ﬂqﬁmw
Y| 39 HHST P 37eHe] TATedd g% Ul BT &
ERURT SfIARM (1938) & GRTH ST IGUINUN B T8




Ques 31. ANS (D) Solution:
oo oo 3ifee Sf&an waf, fagett gfayfa, YRd WReR &t
gfayfa & sqa ga1-ffaa s g1 gar i
R3S, F THE S § TP g1 Idd= H 3R,
&t 3. =g SRfEa Al & snuR W gg &1 fAefeA
GG

Ques 32. ANS (C) Solution:
e HTa B TR B Ufa U] T ST AT S =T
3ryfe] 7 AR S A1 | T B | 39 SR ot e
quUT AP T Y Hew Sa 9Tl Wsg g | Ufdr AHe
gxpeit #1 I & foe e A des FTa A T A @
T T TIPS o STrar o1, SR o afad-
TrHd , ToTT- Tafd, §99- ey, G- giear deam 3
Ques 33. ANS (C) Solution:

qEHIG fo qiTeTes gIRT Glan | Sivel | gU fasis &1
Wﬁ%%ﬁﬂﬁﬂﬂ@ﬂwﬁrmwwﬁw
faeRUg & guTa § 3R 1336 5. H fasowR a9y ot
RO &1 | BIRER T 1 Ugdl aRvTd & HIdbad
Y& UdIY ¥gad & ITHd I fao TR I5rsd &1
RTSTST o] 2|

Ques 34. ANS (C) Solution:

YR GfAYT &1 UGG (Preamble) ﬁﬁ%rm%s%sm‘f
ﬁﬁ%ﬁamﬁ%mgﬁ?
(Soaal,\’rl'l'%(Economm TI\_rFﬁW (Political)
I17; faaR, &rﬁuwf%r,%m,ﬂﬁ&ﬁ?aumaﬁw;
UTIST 3R 3GER BT GHT G BT UTed BT g |
TRATaT H 5 3mexif Ud Ie=al &t wuwar <1 S §
I R WfauH # gt BRI, 59 & Hifd Fewe
fygial auT Afeies Hooal - Traeh e 7 o1 71 3
Ques 35. ANS (B) Solution:

Qewg for e faeel! &1 uud Yoo o1 S figgafl o
WER gicht § et gidr U1l IT 7% 3R if-fave &
AT b ARGl & YR TR HTABTRAT BI e
P DI i AR | feeh ed-d Bt HHAT 1 gaifdes
IR 3T & I BT T gl TR 3D X Al &b
PRI ¥ faglg SIRw gl |

Ques 36. ANS (A) Solution:
TRraTSlt ST g IUTSH TRIST o%1 ¥ eafdd o7 fRrarsi &t
TG & TYTA 37T T TRUTST T} TR 9371 T U ST
YR ST i B B U BT o IR
fged fean SiRTeid 3 1689 §. o YAUTST 9UT ITH
Tgunft &fd HAY D g H |

Ques 37. ANS (C) Solution:

Tl § GrEfed 734t Sfaem Iy aur Rt
J T 7441 Sfaum Ie= a8 1992 | far mar 1|
39 9T YRA & g o). I RReT 79 ¥ S YRa
& TYH Sf&0T YR GU=HT o

Ques 38. ANS (A) Solution:

TG TRBR A 2022-23 F GRIH T R H FHe&fl |-V
T 1.14 IR Y 3P g B! ATHIRIT B & oIl 1,545
AR WA fqgred o gegE 1=dl deHTr & ugd
TRON DI AR B BT MR SIRY o § | TRt werfer
3 BEI A Fel & g 3 Yag R BISHR D d 3T 3,
Y WMBR A WDHRT ITpal J AT=al Suds dH Bl
Thya f5aT 81 39 dgd, 9gf do 9Hd 8], &7 H Iudsy
TR J §7 1T BT I Jwg A HH J S ¢l foT
SUA BT ol b & | YD BT Dl Gfoodl & JieRk

& 1Y 150-500 UTH TR BT GabT §3HT HISH Suds
ST ST The Tamil Nadu government has issued
an order to implement the first phase of 'Chief
Minister's Breakfast Scheme ' in 1,545 government
primary schools to benefit over 1.14 lakh children in
class IV across the state during 2022-23. Chief Minister
Stalin told the students that since they were coming to
school leaving breakfast in the morning, the
government has decided to provide breakfast in
government schools. Under this, as far as possible,
breakfast made of millets available in the area may be
made available to the students for at least two days a
week. Each student will be provided with 150-500
grams of cooked breakfast along with vegetable
sambar.

Ques 39. ANS (C) Solution:

YR 1 STl Uy fmfor hufat & 9 T, Sad
TSN, foresT e SRigeR H §, & Uay e off
P& B B 2T va THIRuH
(SETTHY) & 3feger I T H A1 791 8, St 3R B
TfafAfta oA arelt 32 Bt T TR § | 4 B
STSUIEHT & 399 e 1 3% 8T ol § SRR o
TN MUY Ft 72 a1fifes oM dad & A7 T
T, for e @ SifdfY & =0 & Tehrae gU & Uey Hexs
ot 3R, FHARAY 3R YOI, SEHSTEIG 3R IASibic Afgd
SRR Y SARUITHT S G&RIT A W ferm o1 | M. K

Karthik, Managing Director of Deccan Industries, one
of India's leading pump manufacturing companies,
headquartered in Coimbatore, has been elected as the
President of the Indian Pump Manufacturers
Association (IPMA), the country's association
representing the US. Major organization. Shri Karthik is
the 39th President of IPMA. He was elected at the 72nd
Annual General Meeting of IPMA held in Coimbatore
recently, which was attended by Mr. R.R. Kumaravelu
and was attended by IPMA members from across the
country including Pune, Ahmedabad and Rajkot.

Ques 40. ANS (C) Solution:

YR FAferm TR g e et & g & Ramdy s
! frea e, Rardy fead 3 garstt & HRE & Agayuf
§Td §U 30 -TU |18, & (Yousta), B B3 P15
SIS DI Y3 FRTaTE b IRY Y Afa 7 3o wie
WR % Igured & 1Y gs I U8 Her ga1 &t A
HTIRTHATHT DI YRT HRoh YT deR H shifd A o forg
NR B 1 g1 &1 T T71-Jfesh B Red wife & =
o RN a1 77 §, S GHBIC Ugidl Bl SOl §
3R 3¢ fprad) Heul IR URgd PRl ¢ | I8 §iS Jal
SUHIFIST BT BRI WA SR T¥al $I HH &, fordaT
e 33 8T8 R SHTRIT Y& PIAT ¢ Ol JAD! ol B
Hﬁ@ﬁ"'ﬂl Reliance Retail, the retail arm of Reliance
Industries led by Indian millionaire Mukesh Ambani,
has launched its new brand, Yousta, focusing on youth
fashion. The brand started with the opening of its
flagship store at Sarath City Mall in Hyderabad. The
move is set to revolutionize the retail market by
catering to the fashion needs of the youth. Yusta is
positioned as a youth-centric fashion retail format that




embraces contemporary trends and presents them at
affordable prices. The brand recognizes the buying
power and preferences of young consumers, aiming to
provide them with high fashion options that won't burn
their pockets.

Ques 41. ANS (A) Solution: HRdTd T¥Y 4x400 HicR
ﬁéﬁﬂﬁ@ﬁ%@gﬁwﬁﬁﬂqﬁﬁ?ﬂ%ﬁm@mﬁ
IMER UeRH gu =71 TREATS Rebre a9m 3R 3dc o
BIsd o lﬁwls 1 <t §. HigtHg 3 a1fedl, S
I d, HIgHG Sford aRATIS! SR eI I B
HRATT Apst = 3dc T guIT & §18 GIRT VM IRy
foar. uRdg €| A 2 e 59.05 Adhe T W I @,
m%ﬁ%ﬁﬁ’éwm%qm Yl. The Indian men's

4x400m relay team produced a stellar performance at
the World Athletics Championships in Budapest,
Hungary, setting a new Asian record and also
qualifying for the final in the event. The Indian quartet
of Mohd Anas Yahiya, Amoj Jacob, Mohd Ajmal
Variathodi and Rajesh Ramesh finished second behind
USA in the event. The Indian team completed the race
in 2 minutes 59.05 seconds, before this record was in
the name of Japan.

Ques 42. ANS (B) Solution:

TUHAT R A A 23 3R B1 1P faRe i
(National Space Day) % U T 79 B GIv0 Bt B
TGAM-3 7 23 3T P IGHT & &0l Yd R b
Hite ST 1 ot 39 fad &1 UeTRie 591 & fu 3
AR W S & w4 H 9 fbar 1 5. 91y 8 -
3 iR 1 fawpH ofer dam & afémht ya & forg uide
(@dE) W e g U1 39 'R1a i Tige (Shiv Shakti
Point) ATH f&am a1 8. 2019 # forg dide W d5a™-2 Bt
Eﬂ-s‘éﬁmgé ?‘ﬁwtﬁ%?ﬁ fam tI'T%‘cr (Tiranga'
point) -TH IFEIRIE] %.Prime Minister Narendra Modi
has announced to celebrate August 23 as 'National
Space Day'. Chandrayaan-3 made a successful soft
landing on the South Pole of the Moon on 23 August.
To make this day historic, it has been declared as
National Space Day. Along with this, the point (surface)
of Chandrayaan-3 mission's Vikram Lander on the
south pole of the Moon was named as 'Shiv Shakti
Point'. The point at which the hard landing of
Chandrayaan-2 took place in 2019 has been named as
‘Tiranga' point.

Ques 43. ANS (A) Solution: HRT & TR A UI3R
3R TMee 19 RS AUsT F Iee ydfesy dfugRm
2023 ¥ YMER WeRH HRd gu Tice Hed Siidl §. 39%
1Y Bl RS AYST o8 iy gAY § es
HSd Sitd T YR & Ugel TUHIE &9 71U 3, acs
T Ty fUgHRIg &1 e §TR & gerie J fasar
T, Rl Yo <R # ue 9 ot uash
Sfiqe aTel Ugdl HRGg it &9 71U 3. 35 88.17 HieR &
A B IGIY gg TSd SiidT. India's star javelin thrower and
golden boy Neeraj Chopra has won the gold medal in
the World Athletics Championship 2023 by performing
brilliantly. With this, Neeraj Chopra has become the
first Indian athlete to win a gold medal in the World
Athletics Championships. The World Athletics

Championship was organized in Budapest, Hungary.
Neeraj has also become the first Indian to win more
than one medal in the Athletics Championships. He
won this medal with a throw of 88.17 meters.

Ques 44. ANS (C) Solution: 3TSSITHY! THEE s
YR fopdpe G & it ST 4 & erged
WI-IRR o7 SR IR fHa1 8. 39 dgd dF &

TR TD 3 T} & fRTE 74.2 RIS B AR BT
YA HRAT T SRS 3 gl fb U8 Picae dF
T Pt il 3fafe & fo g Sl UR- SR fera

Uhieada Wl & 1Y Y= BRI IDFC First Bank has

bagged the title sponsorship rights for all the domestic
matches of the Indian cricket team. Under this, the
bank will have to pay an amount of ¥ 4.2 crore for each
international match. BCCl said that this contract will be
for a long period of three years which will start with the
IndiAustralia ODI series.
Ques 45. ANS (A) Solution:
SH]-HIHR & SIST 3R I forat & HgdTe ASTHTT
3R G W6 HI UfABT YRNfed Ybdd (Siieims) 2
e ma g1 3 & 39 R fafkiwanait & sifgcha ol
3R fIRwdrsft & w0 & Y H HTH Fd & 3R

i TR IR 3% YER R Al & o gxaret
"I 8| HEdTg TR, fo 3R o1l 9 & &0 H
ST S @, FoTe urdt | 37 At o et ofR argett o
T faxiy RIM 3@l 3 1 30 fIfTy w@ie ok sHae &
1Y, T8 Wieri -1 Had U T Wi yerd 8, §feh 39
& 1 U Tpiad Uddid Y 81 Bhaderwah Rajmash
and Sulai honey from Doda and Ramban districts of
Jammu and Kashmir have been given the coveted
Geographical Indication ( Gl) tag . These tags serve as
proof of the unique qualities and characteristics of
these local specialties and promote them
internationally . And opens doors for recognition .
Bhaderwah Rajmash , often known as red beans , holds
a special place in the hearts and palates of those in the
Chenab Valley . With its distinctive taste and texture,
this legume is not only a staple food .substance , but
also a cultural symbol of the region .

Ques 46. ANS (B) Solution: REIULIG] 3117131?%?[%{
RS R et BT TWRIS ¢aed & §1S TSR §94 R
T foan| ge g R 4 A o3 SR U fararit & i
SIfeR &1 g1 3R 379, I8 WRIS ¢aey & §1e TaTex a1
T g | N BT I B g & e Ui et A 9
TP ST femToll &1 T M g1 3% UM W 3faerd
& qay IRUMeR® arEslt # J Ue ¢ | 98 Ty q%hd
YR fhdhe &0 & FwH g, S8 taiiadia sik &
20 31TS YRl & g1 IR fohape fay oo sitar g1 ei-t s
AT & Ul 3T 3ES FHUYT SR TR & gar it &t
O &R Ted €1 F1 BRI S fob oft wrer vl

fohdhe I I TH & STac[g URINS RIaret
%uﬁr&mmaﬁvwﬁ@ﬁwﬁ% Industrialist

Anand Mahindra welcomed Mahendra Singh Dhoni on
becoming the brand ambassador of Swaraj Tractors .
Mahendra Singh Dhoni has expressed his interest in
farming many times . And now, he has become the
brand ambassador of Swaraj Tractors . Dhoni 's world




from RanchiBecoming one of the most famous
cricketers of the world is a feat for legends . He has
had one of the most inspirational journeys in sporting
history . He is the most successful Indian cricket team
captain, having won the Cricket World Cup twice in
ODI and T20I formats .Has won Dhoni continues to
inspire the young generation with his unwavering
dedication and seriousness towards his goal . This is
the reason why fans continue to show their love and
respect towards the player despite his retirement from
international cricket three years ago .

Ques 47. ANS (B) Solution: fsife=r ue=ezt B g 4
Ui AT 1 f§1e & &M Hl & U H A1fed fbar| s
Ugd, MW feicH & Sl HAl 1 UG YHTA 6 U1 97 arer
g o &l HAl & UG W S ¢ e, 31§ 3! o
Uley g-ieb & fayraunl 8 9 Ueb Uic ey il | oF ey
4 Ug g1 39 §1d &1 Ter R {31 U1 fob 98 9IR 41el &
91 3 UG ¥ 3KIB] ¢ 71| 9Tehy IR 9Id b gob &b
& T 3@ SR o B g & fore et &t I ufafeean
B T B | Uic AT dordfed el & dl & = o
e e & vad IHY IR || i WM 7 3
TSIfd BRI & GRM Bs Biee UGl TR B
21 98 uRae, T8 Ry, sraemg 3R Fuif 3R e oy
T a1 S gob ¢ | el At & AR WR I S 1 Uiwat
BRI UG BRI | T dd JHY Y YUHEA BN GAD &
TgUNT X8 g British Prime Minister Rishi Sunak named
Grant Shapps as Britain 's Defense Minister . Earlier ,
Shapps was holding the post of Energy Minister of
Britain . Ben Wallace resigns from the post of UK
Defense Minister , now PM Sunak will replace him One
of Grant Shapps ' confidants will take over . Ben
Wallace had already announced that he would resign
from his post after four years . Wallace served as UK
Defense Minister for four years and led Britain's
response to the war in Ukraine .Oversaw the military
response . Grant Shapps has been a strong supporter
of PM Sunak as leader of the Conservative Party . Grant
Shapps has held a number of cabinet posts during his
political career . He is the Department of Transport,
Home Affairs, Business and Energy and Net ZeroHave
served in . This will be Shapps ' fifth government post
as Defense Minister . Shapps has been a longtime ally
of Prime Minister Rishi Sunak .

Ques 48. ANS (A) Solution: THhdl = J dl 3fSa1 & &g
3fa1S Sfid 8. Afh T IR I SRS A IR o
1 - A3 fbaT 8. faomagi Tedl R 3 gret o
$CAR Tl STIREERT 3dls Sl 6. UHT $H=- arelt af
Ugell YR Afgar &+ €. 3fagr Tod §U Uhdl d QR i
i T 519 Fex-wHd T faiey AT & 39 3ais
Y aTSIT SO, $exaIRe UheH! 3t 2o srdw
TS I & OIS e SR WL ¥ Ud TR A 39&T
U fobar. 3 3rars Siiad arell Uabdl Ugell HRd ftber
TP §. Ekta has won many awards in India. But this
time he has brought glory to the country at the
international level. Businesswoman Ekta Kapoor
recently won the International Emmy Directorate
Award. She has become the first Indian woman to do

so. Creating history, Ekta Kapoor will be honored with
this award at the 51st International Emmy Awards
Ceremony in New York. This was announced by Bruce
L. Paisner, President and CEO of the International
Academy of Television Arts and Sciences. Ekta is the
first Indian film maker to win this award.

Ques 49. ANS (C) Solution: & TSI {3t Uy T
A AT & HRITR T U3y sfea ey waifiieRE
R T Wdd YRd o Ugd fad B3 3R &b w7 dgt
1 AT BT ST T | $H SR TR S5 I 3R
HUST AT e=T . IR, BRITCR femr ot
faeraes et e SR TaRieeE & Ry et
1t JUFXYT &1 FRIHT BT PSS B §Y, YR &
UIRTRIS ST H U He@yu! odfand SR GRamT YR
UATId THIRURM & T Hg@yU YR 3R IALTH
ST DI YGIoIer YT B aTell T UFaHT BT SHAER0T
a1 11 Union Textiles Minister Piyush Goyal met
independent India 's first Finance Minister R. at the
South Indian Mills Association premises in Coimbatore
, Tamil Nadu . Statue of K Shanmugam Chetty unveiled
. On this occasion , Union Minister of State for Railways
and Textiles Darshana V. Jhardosh, Coimbatore
SouthMLA Vanathi Srinivasan and senior officials of the
association were also present . Inaugurating the
programme , a statue paying tribute to RK Shanmugam
Chetty , an important figure in the historical narrative
of India and an important administrator of the South
Indian Panchayat Association , was unveiled .Unveiled .
Ques 50. ANS (C) Solution: ¥4 1 RydsR &1 al 91 &
UIdc U & fewl & 0 H Ugd] IR S s
& HR B 8| T H Ry SMEwe) 2.5 RIS & Uy
| 3Eam foxiia IR ugd § 8 ¥ § HiNg o, dfed
Ig UGl IR ¢ b < & B A USRS IR W $qD
Al &1 TrdE fBa1 51 4 oFRd BT =4l APUfd ek
GfcH = 39! GG BT HTHT B b (018 AT D
SfhTT I FHRA 91 T HTH W geR fHul a8
IRBIARAH, T SR GERAH H 81T | 3 IR RIS
oI UEQ I €Y 3T fad o T 31t S/ gHd § 1 Russia
is launching instant banking for the first time as part of
a two-year pilot program on September 1. The Muslim
population in Russia is around 25 million. Islamic
financial institutions already exist in Russia, but this is
the first time that the country's legislation has officially
supported its launch. On August 4, Russian President
Vladimir Putin signed a law introducing Islamic banking
to assess its feasibility. This pilot program will take
place in four Muslim-majority republics — Tatarstan,
Bashkortostan, Chechnya and Dagestan. These four
republics already have the most experience in Islamic
finance.

Ques 51. ANS (D) Solution:

ford TR ST | TR 501 ST 7, S PR
efifae @ eefieree fopar ST @ |

Ques 52. ANS (A) Solution:




'8 57 344 1723
l A A M 4

x7+1 x6+2 x5+3 x4+ 4
-
Ques 53. ANS (D) Solution:

R, B R I G H T

+1 |+1 g || 2
+1 -1

I P K C D M]

Ques 54. ANS (A) Solution:
gaar

KA T

ST BT

CHT

I A & 919 a® 99ar & |
Ques 55. ANS (A) Solution:
B BT = (16 + 15) - 1 = 30
Ques 56. ANS (C) Solution:
Had <1 AHTadl § HING 3P § 2, 4, 6, 8 TUT DT
TN = (2 + 4 +6 +8) = 20
Ques 57. ANS (D) Solution:

@‘.

gl Ry STgE #Y W |
Ques 58. ANS (B) Solution:
UYTIOR, I8 TSP QAT B AT & UTS BI 98- B acl §
g 98 ASH! {HT B AT & HTS B HiSH T |
Ques 59. ANS (C) Solution:
Ryder T18 30 feAl T g1 8 | 7 TG & 918 AW AJaR
BT 14,21,28,53{agaR
SIS 5 3(FesR IJAR B, A 7 3fagsR FICaR 81 |

Ques 60. ANS (D) Solution:
23R16V4P2T10 =7

FEeER g whad S a1g
—+234+16x4+2-10
—~+23+16x2—10
—+23+32-10=45

Ques 61. ANS (C) Solution:

150 152 149 153 148 154 147

I N I AL A A
+2 -3 +4 5 -

6 -7
- [Ti7]
Ques 62. ANS (C) Solution:

- -
D -
N -

EERN
Ques 63. ANS (A) Solution:

UHIAAR,

M>PAYTT > R

T>R>M>P

&% M Faa P I 98T 7 ) STRMT T 99 ST 7
Ques 64. ANS (B) Solution:
T TR Tl 3eT THUU &1 Ufde &, I THR
HR iTd BT D 3 |

Ques 65. ANS (C) Solution:

-6 8 19 61 249
l A A A Al )

x1+2 x2+3 x3+4 x4+5 x5+6
-
Ques 66. ANS (A) Solution:

Ques 67. ANS (B) Solution:

NP JH PTIBR AR =45-20 + 1 = 26
Ques 68. ANS (D) Solution:

a1 B ot 3ip T & S et et ¥ g &Y |

Ques 69. ANS (C) Solution:
w

foreepef 1 98T &1 11 STgETor %Y @ § |

Ques 70. ANS (B) Solution:

R 3 557 31 fua ar gR &1 i, fasra &1 uelt &1 A
o1 ufd & 3rufd fasrg g & U &1 g ot sk &
eI & |

Ques 71. ANS (A) Solution:

I TEH & AV YHAR 3 -

— 14,21 3R 28

e 28 ARG YHaR 8, d 27 dRIE $! §gWIaR 8N |
Ques 72. ANS (D) Solution:

8+4-6+3 x4

feRTgER g ufad & a1g

8x4+6+3-4




32+20-4=30

Ques 73. ANS (A) Solution:

) - i

329 22214
Lot >916 o > 49

IH qhR
L=l >3]
52 =25

Ques 74. ANS (B) Solution:

Ques 75. ANS (B) Solution:

I & & fow Johd / 3@ -

D
3id: B & Sl it ok ¢ T B
Ques 76. ANS (D) Solution:
AT {3 ER B YW SR Al TS HU: 8n 3R
5n %I dd,
8UA - 5UA = 151041
3T = 151041
U = 50347
YT, o SFEJAT = 8n + 5n = 13n = 13 * 50347 =
654511
Let male and female population of the city be 8n and
5n respectively. Then,
8n -5n = 151041
3n = 151041
n = 50347
Therefore, total population = 8n + 5n = 13n = 13 *
50347 = 654511
Ques 77. ANS (C) Solution:
T ORI & UM %, o3 H T,
L USRI * (100 - 23 - 12 - 17)/100 = 1248
=> U = 1248 * 100/48
=> URI = %. 2600
Let Ganesh has Rs. X initially.
So, X * (100 - 23 - 12 - 17)/100 = 1248
=> X = 1248 * 100/48
=> X = Rs. 2600
Ques 78. ANS (B) Solution:
T difTe fob §¢ afad & urd o dufy 2x ot
~0.75%0.64*0.9 *x = 15120

=> x = ¥35000

Suppose the old man had a total wealth of x.
~0.75*0.64*09*x=15120

=> x = ¥35000

Ques 79. ANS (B) Solution:

Y & IR,

BEN3 B BT = 20

faafed HIoH el @t 3iad W& = 25
%g&naﬁﬁﬁﬁhﬁw HIo Udbe = 25 * 20 = 500

B3 BT 20% = 20/100 * 20 = 4 H&MY

- 4 T GRT AT 4o Udbel &t TRSAT = 4 * 40 = 160
RIY B3 BT 25% = 25/100 * (20 - 4) = 4 HETY

- 4 T gIRT YT 4ol abel &1 TR&AT = 4 * 20 = 80
DT 12 HEM3H Bl = 500 - (160 + 80) HIoH Yobe i
= 260 HI5H Udhe

According to the Question,

Number of classes = 20

Average number of food packets distributed = 25
Total food packets distributed in 20 classes = 25 * 20 =
500 packets

20% of classes = 20/100 * 20 = 4 classes

~ Number of food packets received by 4 classes = 4 *
40 = 160

25% of the remaining classes = 25/100 * (20 - 4) = 4
classes

~ Number of food packets received by 4 classes = 4 *
20 = 80

Rest 12 classes will receive = 500 - (160 + 80) food
packets

= 260 food packets

Ques 80. ANS (C) Solution:

3(1/3)d1 (3 + 1/3)°T (10/3)

TH3MTS = INT * &R * FHY/100

1000 = TN * (10/3) * 2/100

T = 15000

n-TTRI% T F FAIT 89 WR t aul | b R WR C|
=TT * [(1 + @&/(12/n)}/100)12/" - 1]

= 15000 * [(1 + {40/(12/3)}/100)®/1212/3 - 1]

= 15000 * ((1 + 1/10)? - 1)

= 3150 ®3
Ques 81. ANS (A) Solution:
HET G = P
- 1-% -1 =0.21P

299 & 3fd H Il TS = -
4 98 & 3fd ¥ =gl sl

120 1 s0.4641p
_ |7 100 |
Y & 3R

046410 - 0.210 = 5082

0.25411 = 5082

it = 20000

Ques 82. ANS (D) Solution:

B 9 WG T FHd RAdH = 120

50% R WRe A1

A T 120 A 120 00 # WS U




@1 RaA =13

A9 RAAH (120 BT 50%) = 60

Y 60 AT BT AT Hed = 60 U
e, AW R 20% g1 ™R 32 Y|

dl, 60 RIEHI 31 THW. = 60 BT 80% = 48 IUY
R A BT = 120%
fael w1 Ta . = 548

B % = @Y. - Tadl) /A dt T 100
= (120 - 48)/120 x 100

=72/120 x 100

= 60%

Total toys purchased from the shop = 120
50% toys were defective.

Let 120 toys are bought for Rs 120.

So, 1 toy = Rs.1

Remaining toys (50% of 120) = 60

Cost price of remaining 60 toys = Rs.60
Since, Remaining toys were sold at loss of 20%.
So, S.P. of 60 toys = 80% of 60 = Rs.48
C.P. of Toys = Rs.120

S.P. of toys = Rs.48

Loss % = (C.P. - S.P)/C.P. X 100

= (120 - 48)/120 X 100

=72/120 X 100

= 60%

Ques 83. ANS (D) Solution:
farmar g 2x + 7y) = 12, 3R xy = 3

(2x + 7y)3 =123

=> 8x3 + 343y3 + 42xy(2x + 7y) = 1728
=>8x3 + 343y3 + 42 *3*12 = 1728

=> 8x3 + 343y3 = 1728 - 1512

=> 8x3 + 343y3 = 216

Ques 84. ANS (A) Solution:

AT o foralt T o1 Siret e T 8|

UY & 39R,
Let k kg of corn flour is added.

According to the question,

(k * 63 + 40 * 36)/(k + 40) = 58.5 * 100/130

=> (63k + 1440)/(k + 40) = 45

=> 63k + 1440 = 45k + 1800

=> 18k = 360

=> k=20 kg

Ques 85. ANS (C) Solution:

T K GRT 10 B¢ H RTTT b BT UFT = 10/40 = 1/4
QY YT WRAT = 1 - 1/4 = 3/4

T K 3R L gRT THI BT 3/4 HFT 4R H foran man vy
=3/4*1/(1/40 + 1/60)

= 187dc

3fq:, foraT T o wHa = 10 + 18 = 28 °¢

Part of tank filled by tap K in 10 hours = 10/40 = 1/4
Remaining part to be filled = 1 - 1/4 = 3/4

Time taken by taps K and L together to fill 3/4th part of

the tank

=3/4*1/(1/40 + 1/60)

= 18 hours

Therefore, total time taken = 10 + 18 = 28 hours
Ques 86. ANS (C) Solution:

AT 6 o U e’ B

e XM BT 80% I6H T3P IR TellfdoH TR & foban
dl, 80/100 x a = (35,645 + 24,355

T = 75,000 TG

Let the total amount be 'a'

80% of the total amount he spent on bike and
television

So, 80/100 x a = (35,645 + 24,355)

A =rs 75,000

Ques 87. ANS (B) Solution:

Q'.@W SR = (mr2h)/3 = (22/7) * (1/3) * 212*9 = 22
*21*9

T T BIC 9 Dt YTl = 'a' JH

T BIC U BT A = a3

Y & 3R

i BT T = 1.54 * 105 BIC Tl BT I
22*21*9=154*10°*
22*%21*9=154*103*13
22%21*9=7*22*103* 3

3%9 =103*'q3

33 =103 * 'Q'3

T=3/10 = 0.3 94

= 3 fodt

Ques 88. ANS (D) Solution:

64 +4+ 4 x3

4+4+4X3=7

1T+12=7

Ques 89. ANS (A) Solution:

SIIR BT BT &FHA =t x 0.142 = 0.0616 JH

qTT S &1 S8 h g1

0.0616 x Ud = 154

Td = 2500 T = 25 Hlex

Ques 90. ANS (A) Solution:

AMT AT B 7R 6x § 3R YRT &1 71 x B
W,W$Wﬁ=6x-x= 5x

\’rﬁT, SIJYUdIE = 6x + x = 7x

3, YR P Ufded 1A = (5/15)*60 = 20 Tt Ufd ger
dl, 5x = 20

x = 4 fut ufa der

3T YRT &1 7T = 4 fobedl Ufd gar

ST, YRT & 3% d TIid = 7x = 28 fordt ufd der
ST, YRT &b 3IHd 19.6 fobHl BT g T A | @
THT = 19.6%60/28 = 42 e

Let the speed of the boat be 6x and that of the stream
be x.

Then, upstream speed = 6x - x = 5x

And, downstream = 6x + x = 7X

Now, upstream speed = (5/15)*60 = 20 kmph

So, 5x = 20

x = 4 kmph

Thus, speed of the stream = 4 kmph

Therefore, downstream speed = 7x = 28 kmph
Therefore, time taken downstream to cover 19.6 km =
19.6*60/28 = 42 minutes

Ques 91. ANS (C) Solution:

Il
““J




Two-factor authentication (2FA) is a security feature
that can protect an e-banking account from
unauthorized access, even if the account holder forgets
to log out. 2FA adds an extra layer of security to the
login process by requiring users to provide two forms
of identification:
1) Something they know (e.g., a password or PIN).
2) Something they have (e.g., a one-time code sent to
their mobile device).
When 2FA is enabled, even if someone gains access to
the account holder's login credentials (e.g., the
password), they would still need the second factor (e.g.,
the one-time code from the user's phone) to
successfully log in. This helps prevent unauthorized
access to the account, even if the user forgets to log
out or their password gets compromised.
&I-HR THTUIGRUT (2FA) T GR&M JfaeT § S 5-oifdT
W1 B ARG Ugd I §91 Thd! 8, Y 8 WIAURS
TN 3MTIT HRAT YT S| 2FA STARTEH AT B UgdH &
3 ¥ UM B B SISl & GRI AN Ufshar §
ﬁ?&nmﬁw Hfafed IR Sisdl &

% U1 S 3 S 8 (O, Uryars a7 for) |
2) ngm% (SCTERTT & 1Y, I Hiasd fSarsy
TR UGl 741 U IR BT D1S) |
TS 2FA T&H BIAT 5, YAl B [ 1 VIATURS & A
PSR (IETeRVI & oy, Uras) Teb g et St ¢,
R 1t 3% IHAAgd® AT 37 B & [ G HRD
(ITERYT & forT, ATl & B A U SR BT HlS)
P} AR gRTT | T Heag e § @ § oFfigpa
UG &1 s, Y 1 STARTHAT A1 SHT3T BT Y ST
1 7P TS I S SBTS 81 oMl
Ques 92. ANS (A) Solution:
1. To create a new workbook-Ctrl + N
2. To open an existing workbook-Ctrl + O
3. To save a workbook/spreadsheet-Ctrl + S
1. 718 ghg® 91 o feIU-Ctrl+N
2. for el Ai[eT adhged &I W & ferg-Ctrl+0
3. ot g/ SRiic B ¥d B & fAU-Ctrl+S
Ques 93. ANS (A) Solution:
The Quick Access Toolbar allows you to create your
own customised PowerPoint menu. You'll save so much
time by avoiding all the many drop down menus and
going straight to the buttons you need.

CASR 31T U1 T BT
graRyrEe B §H &1 3Afd <ar g1 3 qaft 31g 88
T TAHR SR Y I Tl W AHR 301 9gd AR
T SAE D! 3] SfTa=ded g |
Ques 94. ANS (C) Solution:

The memory organization technique that allows the
CPU to access any memory location in constant time,
independent of the memory size, is Associative
Memory.

Associative memory, also known as content-
addressable memory (CAM), enables the CPU to
perform a parallel search across all memory locations,
matching the desired content directly. In other words,
the CPU can access any memory location directly

without the need for sequential searching or complex
calculations to compute the address.

AORT T3 ddh-iid ol SUY &I TART SHTHR T Wi,
fRIR T ¥ ot ff TR R d% ugaq &1 ergafd
&Rt B, wHiRyefed AR 71

THIRufed AER, o hec-ugdad AART (HNTH) &
w0 off 91 S ], Wi @ aifed wndt & @t
e ®Rd 3T A RIHl IR AR S HA |
& ST 81 GO Xeal F, HOR ud &1 T0HT 6 &
foTT 3 Ieh e @iet AT Sifed TUHT B STa=gedhdl & foT
faralt oft A w9 e ugd I g

Ques 95. ANS (A) Solution:

The term "cookie" was derived from the term "magic
cookie" used by Unix programmers to indicate a packet
of data that a program receives and sends it back
unchanged. A computer cookie is a small file or data
packet, which is stored by a website on the client's
computer. A cookie is edited only by the website that
created it, the client's computer acts as a host to store
the cookie. Cookies are used by the websites to store
browsing information of the user. For example, while
going through an e-commerce website, when a user
adds items to cart, the website usually uses cookies to
record the items in the cart. A cookie can also be used
to store other user-centric information like login
credentials, language preference, search queries,
recently viewed web pages, music choice, favorite
cuisine, etc., that helps in enhancing the user
experience and making browsing time more
productive.

SUANT AR T gRT 321 & Ueb Udhe Pl 3 ol
& foru fasam ST 8 S U Ui UTe el § SR 39
3rufafdd aTo OSTdT 81 FHR Fb! TH B! HIRa Al
SeT e §, O U dauT3e gRT se & HHeR R
TIEI fohaT I 81 bl B! adt 39 JaTZE GRT
urfed forar SiTaT € o 3 991 §, FeTSe &l HHeR
FB! D YIS B & oL g & =4 H &1 Fral g
Ul 1 ST DRI TG B b e
JeHISe! gR1 PbIel B SUUNT T STl 31 IEGRYT &
forg, fopet 3-pIA deETse R §Id THY, Ofd $Ig
SUANTH HTE H 3H1ged Sedl §, dl dauIge IR TR
HTC | 3f1gcH Rable DA & U Hobie BT SUANT Sl
21 TH $p! BT IUTNT 3T IUTNTEdl-dbiad BRI
O A ShSfRrad, HTST e, I 3, gTd ot §
4 Y 9 O, it ude, qedlar oo g @l
TR A & forg ot famam o W 8, S SuahTesat
IHT P T 3R T3 TG BT 3HfF IATgH
¥ meg FRAT R .

Ques 96. ANS (B) Solution:

A Bluetooth is a telecommunication industry
specification that is used to connect mobile phones,
computers and other such devices to connect to each
other using short range wireless connection. The
maximum range of Bluetooth communication is 10
meters.




gy U gRUTR SN fafdsr g foraest suan it
I & IRRAY B BT STANT HRep AT B,
HR AR TY 3T JUHRON B U GIR Y AT B
¥ o foram ST 8 | gy TaR &1 3iferdaw I 10
Hiex 5
Ques 97. ANS (C) Solution:
The Portable Document Format (PDF) is a file format
developed by Adobe in 1993 to present documents,
including text formatting and images, in a manner
independent of application software, hardware, and
operating systems.
UICTd G UReY ((IS1Uh) U Bigel URey & ford
1993 H Adobe RT TSR IR, FTEAR R
STORFET Rived ¥ Wdd i ¥ CRe BidTeT iR sfaat
Higd Gearaw URdd H3A o forg fas R fasam am o7
Ques 98. ANS (A) Solution:
Platforms like LinkedIn are ideal for B2B purposes
(business to business), because they allow brands to
connect with new audiences, meeting them where they
go to network and do business. But LinkedIn is not the
only business-forward social media site out there.
Twitter offers businesses the chance to find relevant
conversations, and add to them in meaningful ways.
fefFeg i Wi B2B ST (Ta9 A Ta9T™) &
forg smexf § e 3 sl &1 U ozt A e, I/
firem @t 3gAfd 30 § T F Aedd R W ¢ SIR a9y
I g1 AfpH Reiges tHAH oo a-HBRas avra
Thfear arge 761 71 fger suauml & URiffie srasdid
%ﬁzﬁ 3R I T aiep! A Se BT HichT USH Bl

[

Ques 99. ANS (B) Solution:

The devices which are used to give data and
instructions to the computer are called Input Devices.
Examples: Keyboard, Mouse, Light pen, Scanner,
Microphone, Trackball, Joystick and Gamepad.

3 fgarsy e IUaT $ger B Jer R A A &
e fopa SiTet 8, 377Ye f$arsy wgad ¢ |

IR Plals, AISY, AM3C UH, Wb, AIZHIBH,
cHard, Safed 3R US|

Ques 100. ANS (D) Solution:

Bing is the default search engine in Microsoft's web
browser launched in 2009.

The service has its origins in Microsoft's previous
search engines: MSN Search, Windows Live Search and
later Live Search.

Microsoft's search engine provides different services
including image, web, and video search along with
maps.

2009 H @i fhT 7T AISHIATTE & A9 SR | o
fetiee 99 SoH B

T A1 D! I AT & S Jiel goi! H §s 6
T 99, faei argd I ok a1 & ared I |
HISSHIHTUC DT WIS SO HIFFEN & WIY-H1Y Bid, 99
3R difsar Wie afed fafys Jard UeH Hd1 2|
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